
CHAPTER: 12 MISCELUANEOUS ExERCIS¬

ONo hsee Veti ces of a pavallelogram ABCD are A(3,1,) 
B(-4) qnd c(-i,,2). Find the Codmales of tourth vertx. 

Thsee yevlces paralelogyom ARO ae A(3-1, 
BC1-4) and c(1, 2) 
Let ourlh Nertex be (,,) 

ABCD s a m. 
Mid boint of bohthe. digonals ill be same 

Sance A(3-) eC-4) 
e Phd-pomt of Ac Mid-pont BD 

(3-14 21 113 ) 
,, ) (l, 21 -4 

4t2 4 

2 8 

OND2 he the lengve the median oA nth Vertices 
AC,,) P(°,4) (6,9 

Ner ices A ABC ale S 
Alo,9,4), Bt,1,) ; C(6,9,0) 

F9 

Le D, E, F ht md boinlt of B ep 
an AB a evely . 

Bt49) D3,39) CS3 

D ( 419 ot)ie (3,) 
Ei (6t D40 De) e (3,9) 

04 

Leng of Medon AD 3-)4 (0-b)h (o -6)+ =|9t4t154 49 7 

MedienBE 60+ (o-1,(3-s} J91649 -4 
Meduan eF (o- 0-)'+3 )-Js At5-J49 7 

Lesh ) medant at. 7, jz4,7



ONo3 3f the oCgin the cenfLeiel othe A PeR th 
veuicy P a, 2,6) ,e(-4 36,1 aned R (8,4,20 
thennd Nalues of , b,c. 

Sincc Osi9n 0(0o, 0) he Conisoi) of A PoR 

Nh vetices Plaa3,6); 9(-4,3,-1) ond R(E,4,2) 

Sol 

-4t8 
3 

2+3b t144 -o si 
Celtcd 

6-10 4 
3 3 

e 
3btl6 o 2-4 

29-4 3b-16 2C4 
' -2 b- -

ON 4 hind the Coorclmal�s of a boint on-xi whieh are. 
ar a distance of 5 km he pant P(3-3,5)
Let Rlo,3,) bu oint om-AX1

Dstance R(O,3,) em P(3, a,5) sD 

at 

Sol 

RP S 

RP 50 

3- 2-)*l5--s 
* 4tas 50 

t 4 -12'o(1)a+)** 

Reqatced point ,3,0) oso,- 
ON 5 A poirt R art Comdenale 4 lie on the line 

pun he oin+ P(3,-3,4);6 (3,0,10)Frd he oordrnaseu of R. 
Le R elivi des he lme Scqpreul

P in the atio k:| 
Se k 

P3) R 8,0,1 
3 1okt R 8kt2 



8t24k44 he Gven 0neluljon &4t2 

R4, 3 1e. ( 4,-3,9+ 
ONo A and Bb the pointu3,4,5 ond (-1,3,-7 0p. 

equa egualion othe set ot bun P such ha 

PA+PBk hhese k any comutan
Cven Ponit are A(3,4,5) and B(,3-7ond at P(%iz So 

Fsom 9ven Cmcin 

PA+PBk 

at+22'-4l-14] +42 - KHoo 

Ahch Ttcqtd eqhalion 
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